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SET

HT - &/ PART - A

aT / v faaw
AREA/DISCIPLINE SPECIFIC

I 7 & 5 oeafaf@a Afew f&Aer

4 2x O

€14 0 2| @ x & AT gEM:
12 6 O

(a) 2

(b)) 3

¢ 1

d 0

afe AT of 6 ARFT Ase & MSIA AA
1,3 3R 5 &1 A3 & 35 AT gian:

(@ 1,335

(®b) 3,9 3R 15

© 1,27,125

d) & IS ATPRT qIATT A §

3 5 7
X X X o
d(x——+——— .J/dx bl  HHAJT

3 5 T
g7
(a) sin(x)
(b) e
()  cos(x)
(d) tan(x)
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1.

Given that the following matrix is

4 2x O

singular: | 4 0 2| The value of x is:
12 6 0

(@ 2

(b) 3

© 1

d o

Given that the Eigen values of matrix Asxs
are 1, 3 and 5. The Eigen values of A3 are:

(a) 1,3and5
(b) 3,9and 15

@ 1,217,125

(d) Given information is inadequate

3 5 7
d(x —x—+x——x—...j/dx 1s equal to:
3 5 7

(a) sin(x)

() €
()  cos(x)
(d) tan(x)
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SET

4.  HHTRCA Té‘(t)sin(%)dt H AT g
(a) 0.707
(b) 1.414
¢ O
d 1
fafaf@a & O Fia-ar Fa9 773 §?2

(a) TAT & THA Hod H BRofEd
BRI Aoft 7 A7 A e 3R T
cH BId &

(b) TAT & AYH Bod 1 Feporfadg
HRIR Aol 7 A FrAET F B &

() AT & QYA e Hr FeorAdT
BRI Foft 7 A7 R e 3R T
cHA gId &

(d) TAT & THA Hold @l FAROIAIT
BRI AT & A S @ 3R

PIASA TR B &

gfe Y IeRos TOR THa A
P(X)=2ae™™ @M x,—co<x <40 TART
Uecd dEuw g, ar

(a) b=2a

®) b=4a

© b=al2

d b=0
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4.  Value of the integral J‘é(t)sin[LJdt is:

J J2
(a) 0.707
(b) 1.414
e 0
d 1

Which of the following statements is true?

(a) Trigonometric Fourier series of an
even function of time contains only
DC term and sine terms

(b) Trigonometric Fourier series of an
odd function of time contains only
cosine terms

(¢) Trigonometric Fourier series of an
odd function of time contains only
DC term and sine terms

(d) Trigonometric Fourier series of an
even function of time contains only
DC term and cosine terms

If a random communication signal has
PDF given by P(X)=2ae® for all
Xx,—o0 < x < +oo then:

(a) b=2a
(b) b=4a
() b=al2
d b=0
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SET

7.

gigerd mafed & FAT FoldT & FT OH
JFef@a Fr I W @ 9Rgear &
goTaiierdr &1 &H 8T §

(a) EHEN FHA I, T G, 9 T

(b) TPIUT @, ¥ @, Hhdl FHI I
(c) A I, TYIOT I, ThiHA FHAYT I
(d) @ AT I, 29d @, TIOT I
Ifeg #S dgedh Higesd Hiard 50%, 50%
aur 20% & did Tdhd TR Hhdl & SR

vA. A § o oRomlr d@da a
THTE FIgeld Fahich Bram:

(a) J0.54
b V12
() 1.2
@ ~o.9

o, AN

g 2 fhdlgesr @ #der g 3R
aefFare X W ufaelia 8 whdr &
256 YATARIOT FTAA P GAT A §C
gfa-3murr dratuA. Hoha # IRafda R
T g, @ A3TA. Thd & v e
grafr:

(a) 256 kbps

(b) 32 kbps

(c) 128 kbps

(d) 512 kbps
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The noise phenomena arranged in the
order of their dominance when plotted as
a function of increasing frequency are:

(a) Transit time noise, Flicker noise,
White noise

(b) Flicker noise, White noise, Transit
time noise

(c) White noise, Flicker noise, Transit
time noise

(d) Transit time noise, White noise,
Flicker noise

When a carrier is AM modulated by three
single tone signals of modulation
percentages 50%, 50% and 20%, then the
effective modulation index of the resulting
signal is:

(a) ~0.54
b) 1.2
(0 1.2
@ ~o.9

8 signals, each limited to 2 kHz and
sampled at Nyquist rate, are converted
into  binary PCM signal  using
256 quantization levels. The data rate for
TDM signal will be:

(a) 256 kbps
(b) 32 Kkbps

(c) 128 kbps
(d) 512 kbps
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SET
A

10. frdr 8 duwss  HAigfad H@Ha  g@rr

11.

12.

sftafRa dsfasy, ad g+ 1, Q 3R C
3eT TH 200 Mbps & &X H TS
IgaFgdEr  (IQC) TRIel &t &, 3

sftrfea Ssfagy g &
(a) 600 MHz
(b) 200 MHz
(c) 400 MHz

(d) 133.33 MHz

e A o &F 125 AWM TIFA. W
Jaifeld 256 QAM Tohd @1 CNDR
100 dBHz &, @ Eu/No (ufad fae Far 3k
{d Helcd T 3MeUTc) HT Al gIaM:

(a) 40dB
(b) 20dB
(¢ 10dB
(d 24dB

Rl ®3-3rele War @& gfder e g
10 & g1 40 &Y & gfderd g1 arel T
6dB &llohl 3§ T & gAY @ SfET
g3 &l wAfSd (Fr+eforll) o€
ST T g1 &1 gHem?

(a) 40dB
(b) 22dB
(¢ 16dB
(d 10dB
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10.

11.

12.

The bandwidth occupied by an 8 PSK
modulated signal, where each of the I, Q
and C data streams which form the
n-tuple IQC toggle at a rate 200 Mbps, is:

(a) 600 MHz
(b) 200 MHz
(c) 400 MHz

(d) 133.33 MHz

Given that CNDR of 256 QAM signal
operating at 125 M Symbols/s 1is
100 dBHz. The value of En/No (Energy-
per-bit to Noise Density ratio) is:

(a) 40dB
(b) 20dB
(¢ 10dB
(d 24dB

Return loss of a stand-alone antenna is
10 dB. One 6 dB attenuator with return
loss of 40 dB is connected at the input of
that antenna. What will be the
approximate return loss of the combined
(Antenna + Attenuator) port?

(a) 40dB
®) 22dB
() 16dB
(d 10dB



3ﬂ4i ro

dafad HfFTar T gAciad) F 9g F A sl
¢q fofad wlar - 2023

WRITTEN TEST FOR RECRUITMENT TO THE POST OF
SCIENTIST/ENGINEER ‘SC’ (ELECTRONICS) - 2023

SET
A

13.

14.

15.

16.

FTATIR SIS AT HiAAT YA HATcHS
TaHT [T ST g7

(a) gohd RETT GrT

(b) gcshH ¥olel Aleed
(c) 37T dreedr
(d) 3S9FT H § I F7E

afeg A giforeex IR s o & ALY W
Tl &, o URT offser # gig ¥ Q foeg
TATIHTA I

(a) o8 AT & W
(b) el TEl

(c) oS dABA & FW
(d) I3 BT & AT

e & # fohell MOSFET & Ip 3R Vgs
& € deaer g &

(a) TRETATR

(b) FHIOIH

(c)  OTERTUTRI
(@) faRTaIR—s

Hdclel TdTelel I dcHHS hieTal g7

(a) 1
(b) ©
(c)  3TAT §(n)

(d) gHTg AU u(n)
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13.

14.

15.

16.

Which parameter of semiconductor diode
exhibits positive temperature co-efficient?

(a) Reverse leakage current
(b) Reverse breakdown voltage
(¢)  Forward voltage

(d) None of the above

If a transistor operates at the middle of
the dc load line, an increase in the current
gain will move the Q point

(a) Off the load line
(b) Nowhere
(¢) Up on the load line

(d) down on the load line

The relation between Ip and Vgs of a
MOSFET in the saturation region is

(a) Exponential
(b) Quadratic
(¢) Logarithmic
(d) Hyperbolic

Which 1s the identity for convolution
operation?

() 1
(b) O
(¢) 1impulse 6(n)

(d) unit step u(n)
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SET
A

17.

18.

19.

20.

IefRos W x faegfa -4, 1] & @@=
fAaor arem &, @ x @ AT U GEOT

2

(a) -1.5,25/12
(b) -1.5,5/12
) —-2.5,5/12
d) -2.5,1/4

IOT el H(s) = /(s +3)2 & §T @1 &

(a) -3,3
(b) -3

(¢0 -3,-3
@ 3

HE TAEIITE YO =T el grol, I

() @M ¢a ghIS o b eI &
(b) | YT SHS Fed & 3T ¢
() M ¢d ShS Jod & TTET &
(@) & Y 3N LT SHE oo & I ©

i AW of & v areafas 3eThA 3N 8
foeg STHS MY X(0) =5, X(1) =1+,
X2 =3+j, X(3) =2+ 3j g X(6) FaT
gram?

(@) 2-3j
(b) 3-j
© 1-J
(d) 1+
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17.

18.

19.

20.

Random wvariable x 1is with uniform
distribution in the span [-4, 1], mean and
variance of x is

(a) -1.5,25/12
(b) -1.5,5/12
() -2.5,5/12
d) -2.5,1/4

Transfer function H(s) = 1/(s + 3)2 has

poles

(a) -3,3
(b) -3

(0 -3,-3
d 3

An LTI system 1s minimum phase if

(a) All poles are inside unit circle

(b) All zeros are inside unit circle

(¢)  All poles are outside unit circle

(d) All poles and zeros are inside unit

circle

Given a real sequence and 8 point DFT
output are X(0) = 5, X(1) = 1 + j,
X(2)=3+j, X(3) =2+ 3j What is X(6)?

(@) 2-3j
(b) 3-j
© 1-J
(d 1+
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SET
A

21.

22.

ffaf@d & ¥ Fia-ar o a8 & AR
A for ST & ¢ PRI TrEwE
geffar g, “x” gafar &,
x(n) > X(e*) 3R y(n) > Y(e™)

Taded

@) ax(n)+by(n) = aX(e’)+bY(e’?)
b)  x(n-ny)— e ()
) e™x(n)—> X(ej(wfw"))

@ x(n)xy(n) - X(e)Y ()

P F Jeiid fadee r N =32 & @y
WFg 2 gAY SHAAYT THURS F off a8
gl A of fF tHa gag @y & d9w
WO & m = 1,2,3,4,5 GaRT HAGE [hal
I g, STEF W 5 3ifdH Wor §1 grg on
q ¥ fraet su R @1 fadelegaAr s faar
87

- » o > . - e
WS -1

(a) m=34

(b) m=4,5

(¢0 m=3,4,5

(d m=245
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21.

22.

Which of the following is NOT TRUE,

given that “—” represents fourier

13 ”»

transform, “#*” represents convolution,

x(n) - X(ej’”) and y(n)— Y(ejw)

@) ax(n)+by(n) = aX(e’)+bY(e’®)
) x(n-n,) > e ()
) e™x(n)— X(ej(wfw(’))

@  x(n)*y(n) - X(e™)y(e’®)

The butterfly in fig. is taken from radix 2
decimation in time FFT with N= 32.
Assume that the five stages of the signal
flow graph are indexed by m=1,2,3,4,5,
where 5 1s the last stage. Which of the five
stages has butterflies of this form?

T T
/ ~
L~ Y
A -1

(a m=34

b) m=45

(¢ m=34,5

(d m=24,5
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SET
A

23.

afg A wd B 8 faT gfarvr-aeurdafoecd
g, ¢ 3pfd # v v gER Sis
IGT § JdUT gFASHHAS H A U9 B &
IRfAF AT FHAT: B2 vd OF &, ar 6 =3r
T9C & 9I¢ SFASEAT H A FT AT R

Shift Reg A

Shift Reg A 4

24.

25.

SIA SOA  SIB i SOB
Clock T
(a) C8
(b) 7D
(¢ FB
(d) 3E

quT YA $eqC dlecal 2B & @y N fae
THTATT YHES &I JAHRIUT (G 967
fohdar giar 87

B2
@)

2B
J3(2%)
_B
12(22V)
_B
J3(2)

(b)

(c)
(d)
T %ol f(A, B,C, D) =Y (0, 2, 4, 5, 6,

7, 8, 10, 13, 15) & TWellpd W3NTH &
T BIel 872

(a B'+D)A'+B +D)
(b) (B+D)A+B'+D)
(0 (B+D)B'+D')A +B)
d (B+D)A'+B +D)
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23.

24.

25.

If A & B are 8 bit right shift registers
connected as shown in fig. and the initial
values of A&B in hexadecimal are B2 and
OF respectively, the wvalue of A 1in
hexadecimal after 6 clock pulses is

> Shift Reg A

Shift Reg A >

SIA SOB

SOA SIB

Clock T T
(a) C8
(b) 7D
(c0 FB
(d) 3E

What is the quantization noise power for
N bit uniform quantizer with full scale
input voltage 2B?

@ L
3(221\7)

2B
b

BZ
© 12(22V)

B
@ e
Simplified Boolean function
f(A,B,C,D)=53(0,2,4,5,6,17 8,10, 13,
15) in POS form is
(a) (B'+D)A'+B +D)
(b) (B+D)A+HB +D)
(¢ (B+D)B'+D’)A'+B)
d (B+D)A+B +D)
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SET
A

26.

27.

28.

ar  yonfor, Mn]= A(b,)'uln] aur
h2[n]= A(b,)"uln], Y WS fhar =T

§ AR weEr H(z)= _4 & ar

-2
(A,b,,b,) & FHITAT AT AT HITAT
() A=1/2,b =1/2, b,=-1/2
b A=2,b=2,b,=-2

) A=1,b=1/2,b,=-1/2

d A=1,b=1,b=-1

forelt fSSlicer TRy & soqe Hha A, BUd
C §1 AB3R C 39asg A& & +5V
Hqfd Ua A FT 3UANT HAA T 1 TE
‘0 3A9e F ¥ FH AT S HEwar g1 AR
2:1 SgHhdH & 3T ¥ Geled BC + AC
& fraeaga & for MUX $r mf@a

(@ 2
(b) 3
(¢ 4
d 5

fAefaf@a & & sla-ar VHDL & @™
el 87

(a) Thd @IaT & FUNCTION & 37X
3T fHAT ST v &

fedr ENTITY &, ¥st PORTS -
fSwice & SIGNALS &

(CLK’EVENT and CLK="1") & 39314
CLK #Hehd & 3¢l HR Gl &l
Ul e & forw fFar ST dhar §
std_logic 3T YR HfHdHA 3 TR
& HIeT & IHTUROT H Fehell &

(b)

(©

(d)

ICRB-3=fa® 3f@aar wa.dl. (gaeeiiaen)-2023
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26.

27.

28.

Two hn]=A(b, ) u[n] and

h2[n]= A(b,)"u[n] are cascaded. If the

systems

—» find a possible

effective H(z)= %

value of (A,b,,b,)

@) A=1/2,b =1/2, by=-1/2
b)) A=2,b=2,b,=-2

© A=1,b=1/2, b,=-1/2
@ A=1,b=1,b,=-1

The inputs to a digital circuit are signals
A, Band C. A,B and C are not available.
The +5V supply and the ground can be
used as logic ‘1’ and ‘0’ inputs respectively.
To implement a function BC + AC using

only 2:1 multiplexer, minimum number of
MUX required is

(a)
(b)
(©
(d)

O i~ W N

Which of the following is not true in
VHDL?
(a)

Signal assignment can be used
inside a FUNCTION

(b) In an ENTITY, all PORTS are
SIGNALS by default

(c0 (CLKEVENT and CLK=1’) can be
used to describe the rising edge
event of CLK signal

(d) std_logic data type can assume a
maximum of 3 types of values
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SET
A

29

30.

. 10V #Hesrafd frdr 4 e o e g

DAC & fhdl JolfeT & Sa9c &H qRd
forar Srar §, S wee AT 7.5V &Y
IS ¥l S DAC 0 & 07T o §T 8 W
qgadr &, o Jefed & gaa WA A OIR
A P TAd dleh d IR T g2 ar gl
g 9rar 7 g fF DAC 3@qe foe & @
Th, ‘1’ W ¥ A7 gl ‘U W W Fia-ar
BT BITT?

(a) BO (LSB)
() Bl
© B2
(d) B3 (MSB)

gfeRrer Ry, Rz 3R Rs dleedr @19 V' &
RO ST ST T § AR Ry, Rs &
AR 3T §3M &1 Ri & Ra & TIA
39ereY JfcRIgsh AT 3Q,6Q,10Q TT 15
Q & frar o= g1 9feRiaes A & 3R
T F YT b R1 & AIH § 3fhdA
YRT 3R FYATH YRT HT AT FAT g2

R: Ro
PANANA
"-) Rs % R4
(a) 1.8
(b) 3.6
(c) 5.4
(@ 2.7

ICRB-3=fa® 3f@aar wa.dl. (gaeeiiaen)-2023
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29.

30.

A 4 bit unipolar DAC with 10V reference
is fed to the input of a comparator, whose
threshold is set as 7.5V. When the DAC
counts from 0O and reaches 8, the
comparator showed threshold crossing
wrongly. It is found that one of the DAC
input bit is stuck at ‘1’. Which is the stuck
at ‘1’ bit

(a) BO (LSB)
®) Bl
© B2
() B3 (MSB)

Resistors Ri, R2 and Rs are connected in
series across a voltage source V' and Ry is
connected in parallel with Rs. R1 to R4 are
to be chosen from available resistor values
3Q,6Q, 10 Q and 15 Q. What will be the
ratio of maximum current to minimum
current through R:i by choosing resistor
values appropriately?

R R2
A
v ) Rs R4
(a) 1.8
(b) 3.6
(c) 54
d 2.7
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SET
A

3l. w=® JUTTeT, Twia HHHIOT

y(n)=1.8y(n-1)-0.72y(n - 2)+ x(n)+ 0.5x(n —1)

O gReNT &, o ag Jomelr grefr

R

IR

(c) A+ §T & W
(@ 3UFT H § FIg AQT

fer v M@ & fov ufd gwAur 3m@
g

(a)
(b)

32.

s=1 S=0 S=0
OO
S=1
S=0 5=1 S=0
o m) ()
S=1
L N s
© \. \/ ’
S=0 S=1 S=1
A OMO
S=0
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31.

32.

A system is defined by the difference
equation

y(n)=1.8y(n-1)-0.72y(n —2)+ x(n)+0.5x(n -1),
then the system is

(a) stable

(b) unstable

(¢) marginally stable

(d) none of the above

The state transition diagram for the
diagram given is

L

T 0 0 21 J
TFF MUX
— ICLK Q i1
s |
s s
/
()
S=0 e S=0
(b) Q1)
s=1
=0

(c

~—

’/ l

1
/

|

I
\ /

\ /

a

N,

(d)
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SET
A

33.

34.

35.

A & ue 3.8 FHT 3T Ecqe
s 81w e qut ders &t fharfead
A & AU 3Maegs 3-349¢ OR e &r
~geTcH HEAT &1 §7?

()
(b)
(©)
(d)
& a8 pfd A, B F=A+B 9rd
el & T (Xo, Xi, Xo, Xs, Xs, X, Xe, X7)
H AT AT HIfST

W = Ot o

X0

¥l
X2

]

3

st [s0 o F

Muzx

x4

x5
XE

1]

A C
(a) (171’07091717171)
(b) (1,1,1,1,0,0,1,1)
(C) (17170’19071’171)
(d (0,0,1,1,1,1,1,1)

TIT-JYS (M) § IR §T Hhd & faw
afaf@a & O Fia-ar Fa9 a7 §?2

(a) HFd U RIGed & Jorall H 9Y
TS FFET BT §

(b) U¥ TIEGES, HAFd T dERES &
AT BT &

() HFd U RIeed & Jorelt H qY
TEES BT gdr &

@) ST # G FS

ICRB-d7Ifa® AfAIAT ‘T.6l. (Faaeiiah)-2023
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33.

34.

35.

Given a single 3:8 active high output
decoder. What is the minimum number of
3-input OR gates required to implement a
one bit Full adder?

(a)
(b)
(©
(d)

In the given figure, find the value of
Xo, X1, X, X3, X4,_X5, Xs, X7) to realise the
function F=A+B

W =~ Ot o

X0

hil
X2

]

st | [s0 = F

o Mux
il

x4

Xe

g

A c
(a) (17170;071717171)
(b) (1,1,1,1,0,0,1,1)
(C) (171;0717071;1;1)
(d (0,0,1,1,1,1,1,1)

Which of the following is True for signal
travelling through a Wave-Guide?

(a)

Guide wavelength is longer than
free space wavelength

(b) Guide wavelength is equal to free
space wavelength

(¢) Guide wavelength is shorter than
free space wavelength

(d) None of the above
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36. gAfag I S urdl & fov, AFafaf@a | 36. For matched junction S parameters,
)

F § Far T 22 which of the following is correct?
(a S,=#0 (@ 8,20

®) 5, =0 k) 8, =0

© Sy=1 © Sy=1

(d) |821| =0 (d) |SQI| =0

37. AFafa@a garor Qe # ¥ Fig-ar | 37. Which of the following transmission

gfyeET & GHlT BT 87 modes is supported by Stripline?
(a) TEM (a) TEM

by TE () TE

(0 TM (0 TM

(d) Quasi TEM (d) Quasi TEM

38. ws R&-gA+ & fau, Ife P, = 3muage | 38. For a directional coupler, if Pi = Incident
]

£ Y Ey S _ Power, P, = Output power, Pr = Forward
) M, Po= 3 T, Pr= 3791 coupled power and P = Reverse coupled
ﬂ'&ﬂ?—f ﬁajgml% 3R P, = cTcpAT ﬂ'&ﬂ?—f power; then, Directivity of directional
RegaufFa: at, Re-aeae @ RRwar coupler is
gnt?
(a) Pi/P: (a) PiP:
(b) P:/Po (b) P./Po
(c) Po/Pt () Po/Pt
(d) PyP¢ (d) PvP¢
39. AT+ & 3cUeT W Tha! & 39. Magic Tee can produce
(a) Tohdrl & T U9 A (@) Sum and difference of signals
(b) Grefel (b)  Oscillations
() waue (¢) Amplification
(d) AT Tohdl & (% (d)  Only difference of signals

ICRB-&wfa® sifddar ww.dl (gaaeifasn-2023 |5
Scientist/Engineer ‘SC’ (Electronics)-2023
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40. AZuH AT F{ s 3{@‘:%-[ giar g 40. The cut off frequency of TEM wave is
() 3d (a) Infinite
b) S ) DC
() 2c/A () 2c/A
(d) 39Fd H T FIs AT (d) None of the above

41. zfgFex s &, U'CI'T%?’I' 3R IS &1 | 41. In transistor oscillators, FET and BJT are
qear e ¥ et o used. Instability is achieved by:
g1 foham Sirar g1
(a) FUNcHS HISdsh (a) Negative feedback
(b) YdATcHS Frsds (b) Positive feedback
() & IRTY F YIET garT (¢) Using a tank circuit
(d) 39Fd H T IS AT (d) None of the above

42. T T TUT HIEHhs Yade H, Ycdeh =TT | 42. In a three stage cascade amplifier, each
¢ = . stage has a gain of 10 dB and noise figure
H 10dB aﬁ' < 3R 10 dB el of 10 dB. The overall noise figure is
g §HI & g g
(a) 10.99 (a) 10.99
(b) 10 (b) 10
(¢ 1.09 (¢ 1.09
(d) 10.9 (d) 10.9

43. Ay cf3-gdg g Ifed & faw | 43. Operating Frequency limitation for a
~ ol Pl

gaTereTRier 3gfed HIAT 1 HROT &

Bipolar semi-conductor device is due to

(a) @ W (a) Junction Parasitic
(b) Sl Irfaefierar (b)  Electron Mobility
© (a) T (b) gl (c)  both (a) and (b)
(d) 39FT H § HIg G (d) None of above

ICRB-a7IfA AT ‘vw.dl. (Faaeiadh)-2023 16
Scientist/Engineer ‘SC’ (Electronics)-2023
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44, QT # ¥ F9-IT 3Tdqd  TdTeAd 44, Which of the following offers highest

I TGTeT LT &7

speed of operation?

(a) Srorer (a) BJT
(b) wHE (b) FET
() Hgrg faem HAIThe (¢0 Enhancement Mode MOSFET
(d) 3@t faer HAiethe (d) Depletion mode MOSFET
45. 3= 3{@% W gaifad 3T SRS § Uah 45, Gunn Diode operated at a high frequency
isa
(a) HKOTcHS gfares gﬁ?r (a) Negative resistance device
(b) GaTcHS gAY g‘%cr (b)  Positive resistance device
() 3T Ia gfq*cr (¢)  High noise device
(d) 39FT H § I F7E (d) None of the above

46. AfIRT Fr ettt H, GaAs ¥9-TuTeeh a1 | 46. Compared to Silicon, GaAs Semi-

AT (TsATeeST) Ueld ald 87

conductors offer advantage of

(a) 3TUAT Solaerd Afaiierdr (a) Higher Electron Mobility
(b) 3IT™R 3{@(:%—[ CEIRGE (b) Higher frequency operation
() =R R arr (¢) Lower leakage current
(d) 3IdFa g (d) All of the above
S
47. 47. alculate the approximate power adde
ffafaa egaafea vads Fr enmer Calcul h i dded
S = i N efficiency of following power amplifier :
SO\ afeie gatar & aroren . DC Voltage : 8 volts
&Y dieedT : 8 volts DC Current : 5 Amp

3T URT: 5 Amp AC Input signal : 0 dBm

THl ge9¢ Fehdl : 0 dBm
O/P facgderiad : 30 dBm

O/P power : 30 dBm

(a) 25% (a) 25%
(b) 2.5% (b) 2.5%
(c) 40% (c) 40%
d 75% d 75%

ICRB-&wfa® sifddar ww.dl (gaweifasn-2023 |-
Scientist/Engineer ‘SC’ (Electronics)-2023
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SET
A

48. fFrafaf@a & ¥ yader &1 FHa-ar o

3TIIH TeTdT Y&l aldrl g7

(a) dITA
(b) T B
() I C
(d TITF

49. YWy facgaefed mgfdat @1 geen &

TOUANTH Yeied Xl g

(a) 3TIdX G&fdr

(b) R 3F fAsuea

() dga) RATAT yeT aar &
(d) 39FT H § HIg G

50. S/ IR fSSgal & faw ygerd

faffes oy aitufafear slqa-ar §2
(a) &

(b) T

(c) TTgsS®

(d) 39T Fel

51. A guv 91T gfa-3meandy 3mAfAd d9a |
gad 0.2, 0.8 AId Wiikehdr arel a0
Td 1 & & Weiehl & faw Ffe & siad

giffiehar FaT 87
0.7
0 » 0
0.3
0.4
1 —*> 1
0.6
(a) 0.35
(b) 0.38
(¢ 0.12
(d 0.62

ICRB-3=fa® 3f@aar wa.dl. (gaeeiiaen)-2023
Scientist/Engineer ‘SC’ (Electronics)-2023
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48.

49.

50.

51.

Which of following class of amplifiers
provides highest efficiency?

(a) Class A
(b) ClassB
(¢) ClassC
(d) ClassF

Compared to Linear power supplies SMPS
offers

(a) Higher Efficiency

(b) Better ripple performance

(¢) Gives better regulation

(d) None of the above

What are the different circuit topologies
used for DC/DC converter designs?

(a) Buck

(b) Boost

(¢) Flyback

(d) All of the above

What is the average probability of error
with two symbols 0 and 1 with source

probability 0.2, 0.8 respectively
transmitted over a binary asymmetric
channel as given below :
0.7
0 » 0
0.3
0.4
1 > 1
0.6
(a) 0.35
(b) 0.38
(¢ 0.12
(d 0.62
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SET
A

52

53.

54.

IC

- 5 IR g IRfET FUR BIAAT HA 8]

&% @3 e & v 3nfaa ~g7das7 g &

(a) 6
(b) 5
(0 11
(d 10

3-TIT=<I_"T% HA yefld 3mesy op-amp F T
e for & AR ysmadar  f§g
gl gl

(TerdrdY) dreedr

+ o |
v\
(@) 5V
®b) -5V
© 1.667V
d) -1.667V

Teh 3MMeR] JelfolT T Y S Teeh & |y
4Vpp (N9-J-NY) Fr T R YT &
St §, ot f& smefa & gefar s g
delfers T Ted¥ dleed 1V &l ABEYE Vou
13U 3T FAT GIm?

4 Vpp Sine Wave +
Vout
Vigfg =1V ~
(a) 33.33%
(b) 66.66%
@ 25%
d) 50%

RB-dwfa® s1f@gar wa.d. (ga=er@dn-2023
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52.

53.

54.

The minimum distance required for a
linear block code to achieve a guaranteed
correction of up to 5 errors is

(@ 6
(b) 5
¢ 11
(d 10

The Lower Threshold Point (LLTP) voltage
of the Schmidt trigger with an ideal
op-amp shown in Figure is

(@) 5V

®b) -5V

© 1.667V
d) -1.667V

An ideal comparator is fed with a sine
wave of 4Vpp (peak-to-peak) with zero DC
component as shown in Figure. The
reference voltage of the comparator is 1 V.
What is the duty cycle of the output Vout?

4 Vpp Sine Wave +
———  Vout
Vieg =1V ~
() 33.33%
(b) 66.66%
@ 25%
(d) 50%
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55. fowel A @ leg@r T # @MU 1T Hfhe | 55. Which of the following represents the
T FE 3T3eTE V, Fr gATar &2 A o 6 correct output Vo of circuit shown in
> Figure? Assume RC=1.
RC=1 &I
R
R I‘A'ﬂvlv
MM . c v,
C i
V.O—“— L ov, 1 V'o_”_ LoV, !
R
R > 1 2 3 t
1 2 3 ¢ —
Vot Vet
1 1
(a) . (2) ,
1 2 3 i 1 2 & 3
=17 =1
Vs Va1
(b) (b)
1 4 3 t 1 Z £ 3
Voh Vot
0.1 0.1
(© (©
1 2 3 F 1 2 3 t
=01 =.1
Vo
@ e @ .
| | | |
T2 3 ¢ T2 3 ¢

ICRB-d7Ifa® AT ‘vw.dl. (Faaeiah)-2023 90
Scientist/Engineer ‘SC’ (Electronics)-2023
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SET
A

56

57.

58.

IC

. AT TeH dieear dfgd & T 4-foe

M%WW@WS-@E Bforea-
Q-UATlldT  qRacieh  (STUd) & 3pfa &
garEr  Ir gl AR bW IRM
LSB, bs MSB § 3iR op-amp ey g, oar
M3eYge Vo W 8-fde Jodr & 3g®d Fel
UATeeT AT 9Ted ol & fov gfokies R
FT AT FIAT glaAT aATfgTU?

ARAA
Y

16kQ

R

Voo v;n{ 16kQ

|4-bit DAC] [4bit DAC]

—oV,

I . s_._.Da
(a) 8KQ
(b) 0.25 KQ
) 1KQ
@ 0.5 KQ
rfef@a & ¥ Fi9-ar ®orcAs FrsdF
& foT qfE 3ROT Folel g7
(@) —1

1+GH

G

®) 1+GH
© GH

1+GH

-1
(d) 1+GH
o S H 4s+1
4s? +1

(a) 3ITW
b)) R
() 3R &7 & &R
(d) TEeRdT 1 fAuRoT 7 fRaT ST AT &

RB-dwfa® s1f@gar wa.d. (ga=er@dn-2023
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56. An

57.

58.

8-bit  Digital-to-Analog converter
(DAC) using two identical 4-bit DACs with
equal reference voltage is shown in
Figure. If bo represents LSB, by MSB and
the op-amp is ideal, to obtain correct
analog values corresponding to an 8-bit
DAC at the output Vo, what should be the
value of resistor R?

AMA

=

-
-
-
-

L oVi

Voo  Vag 16kQ

|4-bit DAC] [ 4-bitDAC ]

b?-na“ 3. o
(a) 8KQ
(b) 0.25 KQ
() 1KQ
(d) 0.5 KQ
Which of the following is the error
transfer function for negative feedback?
1
@ 1+GH
G
b
) 1+GH
GH
(©)
1+GH
-1
d
@ 1+GH
The following system 48; ! is
4s” +1
(a) Unstable
(b) Stable
(c) Marginally stable
(d) Stability can’t be determined
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SET
A

59.
Arfaf@d 3R g ar &

(a) RUNcHS Gollel JoFc el @

(b) CeATcHS Gollel Jeobcl AL 1@
(©) 3efele Jod Uk dsh 3@l
(d) o Y JET & TqTT TH T

60. TgfFare AMUEE A YgFd HRl @AY gAY
T Wl HYA & (m UG n FAM Yd U

YT H HEAT §)

() .[ G(s)ds =27

(b) IG(s)ds =27j(m—n)
(c) IG(s)ds =27j(n—m)

() j G(s)ds = 27zjm

6l. ¥ F=faf@a yumell &1 AFS  3raEAT
TY FT % + 3% —9x = 3sin(wt) F gRafdd

frar Sirar § ar aRomer A Afeww el

() (_09 _13j
o) [g :;j
(c) [g _13j
@ (_09 ‘31j

ICRB-3=fa® 3f@aar wa.dl. (gaeeiiaen)-2023
Scientist/Engineer ‘SC’ (Electronics)-2023
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59.

60.

61.

The bode plot of the
function e has the following shape

delay transfer

(a) Straight line with negative slope
(b)  Straight line with positive slope
(¢) A curved line with resonance

(d) A curve with two straight parts

What 1s the correct statement of the
Cauchy residue theorem used in the
Nyquist criterion (m and n are the
number of poles and zeros respectively)?

(a) jG(s)ds =27
(b) jG(s)ds = 27i(m —n)
(c) IG(s)ds =2rj(n—m)

() jG(s)ds = 27im

When converting the following system
into the standard state space form
¥ +3x—9x =3sin(wt) the resultant A

matrix is
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SET
A

62.

63.

64.

forTeRar & e & TgEd A ¥
() [B AB A’B..]

® [B BA BA®..]

¢ [B AB 24B..]

@ [B -4AB -A%B..]

AT AT & AF F9 §

(a) Kp+de+KIs2
K, K
K +—4+=—L
(b) Pt
(c) Kp+Kd~s+%
(d) Kp~s+Kd82+KIs

UH  AH  gfadr AUt §gadr &l
G(s)=a,8* +a,s+a,, & CarT gl I g,
o 3T GO & IR ERRAT Hater Hi

i STue:

@ a,>0,a>0,a,>0
(b) ay;<0,a,<0,a,<0
) ay;>0,a,>0, a,<0
d a,<0,a>0,a,>0

ICRB-d7Ifa® AfAIAT ‘T.6l. (Faaeiiah)-2023
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62.

63.

64.

The matrix used for calculating the

controllability is

(a [B AB A’B..]
® [B BA BA%.]
0 [B AB 24B..]
@ [B -4B -A%B..]

The standard form of a PID controller is

(@ K, +de+Kl,s2
K, K

(b) Kp+Td+S—21

(c) Kp+Kd-s+%

(d) Kp~s+dez+KIs

For a standard second order polynomial
given by G(s) = a,s* +a,s +q, , according to

the Routh test, the stability criterion is

given by

(a) ay,>0,a,>0,a,>0
(b) a,<0,a<0,a,<0
) ay,>0,a,>0,a,<0
d a,<0,a>0,aq,>0
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SET

A

65. 5 Fex # g ¥ ewer ar yuRfAT T
arR 1 grT A Auda feemsit & gaifgad &
W Bl I I =10A & & P fig w

JFEIhIY & drgar gefr

& 5

@ 22 A/m
¥4

b 2 Am
¥4

© 2 am
8rx

@ 22 AMm
¥4

66. FTRUT oS dT fRAIO gfaerer 50 Q
gl 39 Ry orsd H sAqe wfderer
Zoc =100 +j150 Q &l ME Alhe §§ A

gTaTeT T AT &
(a) 7.69-j11.54Q
(b) 2-350Q

() 50Q

(d 100 +j150 Q

ICRB-3=fa® 3f@aar wa.dl. (gaeeiiaen)-2023
Scientist/Engineer ‘SC’ (Electronics)-2023
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65.

66.

Two infinitely long wire separated by a
carrying current I in
If I = 10A, then the
magnetic field intensity at point ‘P’ is

distance 5 m,
opposite direction.

50
50

(a) oy Vm
5

b 2 A/

®) 8x o
10
10y

(c) o, Vm

@ 22 AMm
8x

Characteristic impedance of a transmission
line is 50 Q. Input impedance of open
circuited line is Zoc = 100 + j150 Q. The
value of short circuited input impedance is

(a) 7.69-j11.54Q
(b) 2-j50Q

© 509

() 100+j150 Q
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SET
A

67

68.

69.

. §C 91T YUMel T 3THcmeTOies  gareor

s*+2s5+2 =08 dl YU & Braf?
sfer sawfea
T T T AR

e JraHfed

HeTaA e

(a)
(b)
(©)
(d)

Téh 12 dlec & &l 2A &7 Idd 9T W
20 fafe & foT RBwae adr & 3k
cfiTer dieear 12V @ 10V & @& &9
d A g 81 39 FAT & aRIeT deff gann
YT &N IS FHol Foll fhetell 872

(a)
(b)
(©
(d)

26.4 KJ
12.2 KJ
120.5 KJ
24 KJ

I:=10A, Vs o HIT &I 0T FHifoT
v L

-5V
10V
15V
20V

(a)
(b)
(©
(d)

ICRB-3=fa® 3f@aar wa.dl. (gaeeiiaen)-2023
Scientist/Engineer ‘SC’ (Electronics)-2023
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67.

68.

69.

The characteristic equation of a closed

loop system is s*+2s+2=0. Then the

system is

(a)
(b)
(©
(d)

Over damped
Centrally damped
Under damped

Un damped

A 12V battery discharges for 20 minutes
at a constant current of 2A and terminal
voltage drops linearly from 12V to 10V.
What is the total energy delivery by the
battery during this time?

26.4 KJ
12.2 KJ
120.5 KJ
24 KJ

(a)
(b)
(©
(d)

I, = 10A, Calculate value of Vs

2V,

-5V
10V
15V
20V

(a)
(b)
(©
(d)



3ﬂ4i ro

dafad HfFTar T gAciad) F 9g F A sl
¢q fofad wlar - 2023

WRITTEN TEST FOR RECRUITMENT TO THE POST OF
SCIENTIST/ENGINEER ‘SC’ (ELECTRONICS) - 2023

SET

70. V, AT FfST

71.

72.

20
T1ev 4
gA 80 10 Q Vi
5Q ¢

(a) 24V

(b) 12V

(¢ 10V

(d 8V

AR Ao O fhd faegaried gred Hite
& fou, Iag 30 V-l JAfAIeIo & forg amer

W Y=o gl a1fge?
(a) @UTE HET

(b) S ()

(c)  3GUTc 87T

(@ 3udFd #A § A ¢

dgATT AT & fow 3MH div o gaer &
3 gt a7 afFee g g &

(a) YellcHs dTIATS I0Teh
(b)  HUNcHS dATIHTA I[0Teh
(c) T dATIHATS I[0Teh
(d) 3feld ATYHATT IOTeh

ICRB-d7Ifa® AfAIAT ‘T.6l. (Faaeiiah)-2023
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70. Find Va
20
J1ev J4. 4
8A 30 Va
fo b
(a) 24V
(b)y 12V
(¢ 10V
d 8V
71. For obtaining maximum power from a

72.

solar cell, it should operate on which
portion of its V-I characteristics?

(a) Flat portion

(b) Knee

(¢)  Falling portion

(d) None of the above

Commonly used Thermistors for

temperature measurement have

(a) Positive temperature coefficient
(b) Negative temperature coefficient
(¢) Zero temperature coefficient

(d) Infinite temperature coefficient
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SET
A

73.

74.

75.

76.

30 ORI T TH Fsell H IIRT HHAE A
gRade 0.1 Js/AFs g, a IR S.TH.TF.
T AT FAT g7

@ 30V
(b) -3V
(c) 300V
(d) —-300V

I & IeE F W, AT I WS
A EaRT IFEUT & g URT 10A § T
12A g Sl 8, ar doregel & gfderd gig
g

(2) 44%
(b)  40%
© 20%
d 16%

Teh ST o€ FelRel 230V W 450A &1
3caIed AT gl e &7 IR 3R &
gfaer AT 50 ohms T 0.025 ohm ¥l

3THeX dreedr 9rd grem
(a) 11.36V

(b) 227V

() 316V

(d 384V

50 g W yaTolerler fhdl 9OT Al H
4% TaEYUT & A1Y golh URT Igicd &

(a) 48 Hz
(b) 4Hz
(c) 2Hz
(d 16Hz

ICRB-d7Ifa® AfAIAT ‘T.6l. (Faaeiiah)-2023

Scientist/Engineer ‘SC’ (Electronics)-2023

27

73.

74.

75.

76.

Change in magnetic flux in coil of 30 turns
is 0.1 weber/second. What is the value of
induced EMF?

(a) 30V
b) -3V
© 300V
d —300V

Neglecting saturation, if the current taken
by DC series motor is increased from 10A
to 12A, percentage increase in the torque
will be

(a) 44%
(b)  40%
© 20%
d 16%

A DC shunt generator produces 450A at
230V. The resistance of shunt field and
armature are 50 ohms and 0.025 ohm

respectively. The armature voltage drop
will be

(a) 11.36V

(b) 227V

(¢ 316V

(d 384V

The rotor current frequency in an

induction motor operating at 50 Hz, with
4% slip 1s

(a) 48 Hz
(b) 4Hz
(¢ 2Hz
(d 16Hz
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77. ue gfwEY (@mR) 9Roy A, asRex
afAg 3yauad W Fr A O Raw-

3T grem §

(a) TN fGep-aRade (FFgeer)

(b) vuNfed feep-aRad (FEgeer)

(c) Tamwfaes a1 yonifead  fewm-9Rade
(FFGA) FIS o

(d) Tawfas uvd yoifed few-uRade

78.

dIeT-A T JAET IAAN T

(FFGEAA) T TAISTA

& AT & fav fHar arar B

(a)
(b)
(©
(d)

79.

39T H § HIg G

T Fell (FIgel) FI Q IOTH

CaRT g ST &

(a)
(b)
(©
(d)

80.

Xiu/R
R/X1,
Xu/(R2)
Xco/XL

TH.HELAR. gE & diG, I AT TG gar

o STl &, o TH.AELAR. # R

(a)
(b)
(©
(d)

faRet o= & el &
qedl el &
A g ST
JUTad Bl &

ICRB-3=fa® 3f@aar wa.dl. (gaeeiiaen)-2023
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7.

78.

79.

80.

In a chopper circuit, the thyristor is
switched OFF at regular intervals by

adopting

(a) Natural commutation

(b) Forced commutation

(¢) Either natural or forced
commutation

(d) A combination of natural and forced

commutation

Wein-Bridge is commonly used for the
measurement of

(a)
(b)
(©
(d)

Inductance
Conductance
Capacitance

None of the above

Q factor of a coil is given by

(a)
(b)
(©
(d)

Xiu/R
R/Xy
Xu/(R2)
Xco/XL

After firing a SCR, if the gate pulse is
removed, then the current in the SCR

(a)
(b)
(©
(d)

Drops to zero
Increases
Decreases

Remains the same
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81.

(a)
(b)
(©
(d)

T ‘@ /Part ‘B’

sfAeTar/ardar gdaor

APTITUDE/ABILITY TEST
Flaar Awed 92 RIed &1 TA oar g2 | 81

(1 37)

&

B~ W N =

i

=2 o

ICRB-&71fa® sfdar wa.dl’ gaaeiadn-2023 o9
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Which option replaces the question mark?

3.

4

(a)
(b)
(©
(d)

(1 Mark)

|

i

B

S

AW N R

—
A
R
7
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82.  iarar [Aehed Ul RAgsd &I TUT ofar g7 | 82.

(1 37h)
VAN -«
Al [ H]I[[D]"
as
1
is to P,
A B D
(a) A
(b) B
¢ C
@ D
83.  iqar faded uaT e o1 TAWT oar g7 | 33
(2 37h)
B0 P> |ss0 O/zes| (8)> @ /0
Makes 1st item Half size Shades 1st item
o(m (x> Own B(O @) 0m(

Rotates 2nd item 90° anticlockwise Shifts all items one position right

Which option replaces the question mark?

(1 Mark)
VAN <
ﬂ | ‘ |t is to I]]I[I[]])
as
O
is to P,
n i] = =
A B C D
@ A
(b) B
© C
d D
Which option replaces the question mark?
(2 Marks)
/0 (P> #/0 O/ (8) @/e
Makes 1t tem Half size Shades 1t tem
o(m (x> Own B(0| -@)>0m(

Rotates 2nd item 90° anticlockwise Shifts all items one position right

©OD—

HO

mO @D ¢
A B C D
UO( IO( ..( IO(
(a A
(b) B
¢ C
(d D

ICRB-d7Ifa® AT ‘vw.dl. (Faaeia$h)-2023 30
Scientist/Engineer ‘SC’ (Electronics)-2023

A B C D
UO( IO( .. ( lO(
a A
b)) B
c C
(d D
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T TH RedT Fad § S HHANR W
WHAR ¥ YFAR aF FA T &1 3T
FH W Tgad § IR d@d § & A
d5qa ue F feam war ¥ ok amad
YeUF o TR AfAEaR AT Roe &
AAAR F HIF I¢ F SeAled g 3R
I TF Uil A QST 9§ wEd
39gFa giafar #ar 372 (1 37)

(a) 39« JeYH § &0 HY IR Faw &
MU AfAAR # 3T I F fav
SeAfeT I gt fr AT TAS §
IS F oFr T oAk A ge
Fhd & a1 39 fedr AR &1 gs
Thd &, S 3Hr Roe Fr Fax
hll &

(b) 339 HEHHAAT & S fb ¥ 4
MY RN H FaR I Thd &,
Fifh 3T 3T 9 & AT SeAfe
&I qrEl fr AT TS &

() VT fe@mar &Y, I 3T ASYSA AL
ST g, Fdifeh 3T gHAT WHAIR A
YHIX Tk HH W § AR AfATR
I TG 3 &

@ & & g5 a1 & IR AFAGR H;
R g i AT g7

Scientist/Engineer ‘SC’ (Electronics)-2023
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You are a retail clerk who typically works
Monday through Friday. You arrive at
work and notice the new schedule is
posted, and your manager has given you a
Saturday shift. It happens to be your son's
birthday on Saturday, and you have a
What is the most
(1 Mark)

party planned.
appropriate response?

(a) Speak with your
explain you have a birthday party
planned for your son on Saturday
and ask if they can find someone else

manager and

or if you can find someone to cover
your shift

(b) Ask your coworkers if they can cover
your shift because you have a
birthday party for your son planned

(c) Pretend like you did not see the
schedule since you always work
Monday through Friday and do not
show up on Saturday

(d) Do not say anything to anyone, and
plan on calling in sick on Saturday
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fArafafaa 7 & siaar M G v
3fede B FIH TS H QT HIAT
§? sl dcel & TH FdeToT A,
gl ¢ 9ig el of &HA § HA AIST
SSHT gt & Tl
grelifeh, TI&oT H  ISAT Al
3Tdcehl & 3IUTT &l HH Hlh 3TehI
ST HehdT g, Fdifh ? (139

gd TR

() T F HET ol dTd TS SSHA
e o FAETUT H SHAEGR gl I

grar faRar ghem

(b) T H HET oA dd FT HAAR

W SHAEGR o9l o grar farar gem
TfeTor W AESAEAT IS F I gl
forar &r

© Fo e, Gegla gdeor # w4 @
HH AT SSHST glet FT grar fhar, a

9gd ISALT 8 Tl &

g ohar § & adetor # SSA g
FT GET FA AT FS ol SHAGTEN
ST g W@ R

(d)

Scientist/Engineer ‘SC’ (Electronics)-2023

85.

32

Which of the following best completes the
passage below?
In a survey of job applicants, two-fifths

admitted to being at least a little

dishonest. However, the

the

survey may
of job
applicants who are dishonest, because
(1 Mark)

underestimate proportion

(a) some dishonest people taking the
survey might have claimed on the

survey to be honest

(b) some generally honest people taking
the survey might have claimed on

the survey to be dishonest

(©

some people who claimed on the

survey to be at least a little

dishonest may be very dishonest

(d) some people who claimed on the
survey to be dishonest may have

been answering honestly
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86. 35 AT P,Q, R, S, T,V, W 3R Y tw=|86.
PR AT & IRT 3T 95 T
1. 36 # 8, IR <TFd AT & el I}
4 ¢ 3R 31T IR A & T 9]
& #7ey g W 93 ¢l
2. Fl W I8 IfFT dg Y IR 2@
T & oefe ek & 787 §g W}
¥ gfFd aET $r 3R @ | &l
3. S,P& e I TUST W gl P
FT IET g I 3T gl
4. Y,P AT S & ST H AGl ST gl
5. T,R & g & dwRr
6. R A & frdr off ey & #Aew-fog
R AGT ST gl
7. R MY & o1 & AGT gl
8. P 3R V & 9ig shad v afea gl
9. QV & I8 H I o7 &l
T 3k Q & <fiT Fdar T &2 (2 37)
(@ 1
(b) 2
(¢ 3
(d) @IS TG
87.  eplaar s YRl FAgeT ol T oiar g2 | 87-
(1 37)
s [+<] [+] . .
olak L-- §l 2 5
- BB - BE
3. -1 = 4. .... {
(@ 1
(b) 2
() 3
d 4
ICRB-d+fas sifddar wadll, (gaaeiad)-2023 g4

Scientist/Engineer ‘SC’ (Electronics)-2023

Eight friends P, Q, R, S, T, V, W and Y are

sitting around a square table.

1.  Out of eight, four persons are sitting
at the corners of the table and the
other four are sitting at the mid -
points of each side of the table.

2. Persons at the corners are facing the
centre while the persons at the mid -
points of side are facing outside.

3. Sis third to the right of P. P is facing
the centre.

4. Y is not sitting beside P or S.

5. T is third to the right of R.

6. R is not sitting at the mid - point of
any side of the table.

7. Ris also not beside Y.

8.  There is only one person between P
and V.

9. Qs not sitting beside V.

How many people are there between

T and Q? (2 Marks)

(@) 1

(b) 2

e 3

(d) None

Which option replaces the question mark?
(1 Mark)

HE 2 B
E i N .:'. %
£ |

(a)
(b)
()
(d)

Wb
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88.  goo g & TAWT 9T FAT 3MTIT?

(1 37)
™ N I N N N
(._0 NS B 0 NS 2 ) ( 4 \/ 14)
\ X / N X T/ NGO S
NS NS b T NS NS
;‘"\_10_,}(\ }"\ 24 A \/"f_ 7N
/ N\ S/ ‘\._(;/ \ 7K N
AN g oI\ o oA N
( 2/ \i- ( =7 \E) (}_E]/ \\3.2/}
(a) 45
(b) 8
(c) 38
(d) 48

89.  iqar Qe 92T Rgd &1 T Jar &7

(2 37h)

N BN

(@ A
(b) B
@ C
(d D

ICRB-3=fa® 3f@aar wa.dl. (gaeeiiaen)-2023
Scientist/Engineer ‘SC’ (Electronics)-2023

Which one will replace the question mark?
(1 Mark)

(0 AN 2N /N ( \ N\
/ ] 0N/ 2 ) - / 14 )
N\ //\ /J{ S \. q /_/
N N / WF
X120 X X 24 X X2 X
/ /NG N\ LN N\
N 4 A 19)
VAVEULCEL A
(a) 45
(b) 8
(c) 38
(d) 48

Which option replaces the question mark?
(2 Marks)

(@ A
b B
¢ C
d D
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90. T2g 1: RF T FEET 9d1 Tod gl 90.
a2 2: Fghir 1 et foraet 7 =T g gl
2T 3: FEeil A Fo fohdist & s gid Bl
Ife uger 9 Fua gz §, O Refef@a
H q Plaar sU T T 2T g AIfgu?
I. T3, ueal & Sgdk Feledl adT dohd
gl

II: mﬁmﬁmﬁﬁa@
ael g 8l

III: FT Feiad &1 et 7 qeq 3R
ICERC I i (1 3ih)

(a) @ad I

(b) ohadl II

(c) hael III

A 5 ft FUT AT ITT TG §

91. Yy T H Fads 3RT o9 w g 91
& aiftifcas d% =9 O S« adr &
FaWSE e W fagel Har A
Aegatia  dree-Rigee ﬁra‘m %07
Faifod e & v sd Red
d& & AT F1 Ieoud W T &

FRATg @ gfshar :

. afofsas do § gefaa Rt
# Aefea fFar s gl

II. 3RS & afoifeas daF F
A 2 & A & AT FEr ST
By (1 37)

(a) hael I g 3TENOT &l §

(b)  ael 11 3TEROT FaT &

() A @ I a7 II 36IeRoT el &

(d) & @I 3 ar & 11 36Eor & §

ICRB-d+faw sifddar wadll, (gaaeiadn-2023 55
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Fact 1: Pictures can tell a story.
Fact 2: All storybooks have pictures.
Fact 3: Some storybooks have words.

If the first three statements are facts,
which of the following statements must
also be a fact?

I: Pictures can tell a story better than
words can.

II. The stories in storybooks are very

simple.

III: Some storybooks have both words
and pictures. (1 Mark)

(a) Tonly

(b) Il only

(¢) III only

(d) None of the statements is a known
fact

Statement : Exporters in the capital are

alleging that commercial
banks are violating a Reserve
Bank of India directive to
operate a  post-shipment
export credit denominated in

foreign currency at
Iinternational rates from
January this year.
Courses of Action:
1. The officers concerned 1in the
commercial banks are to be
suspended.

II. The RBI should be asked to stop
giving such directives to commercial

banks. (1 Mark)
(a) Only I follow
(b)  Only II follows
(c)  Either I or II follows
(d) Neither I nor II follows
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SH Aol # el HEAT AT HITAT
7, 8, 18, 57, 228, 1165, 6996
(a) 7

(b) 8
© 6996
d 228

fear-fAder : Y AT T I TR

# 9 # FAS # aged & AT B
IAH HI LTI Y IR A T 10 goat

%+ 3c ¢

(2 37%)

qeaTE

(1 37h)

Earnings per day

/\
/ \

& & & & FE S
EC N « e

“ 200 = Earnings per day

92.

93.

fhet gl & T FATS HT AR FT AT?

(a) @AR — FHAR

(b)
(c)
(d)

HITTAR — TUAR

FEEATIAR — YehaR

ST FIS AE

Scientist/Engineer ‘SC’ (Electronics)-2023
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Find out the wrong number in the series.

7, 8,18, 57, 228, 1165, 6996 (2 Marks)
(@ 7

(b) 8

(c) 6996

(d) 228

Directions The graph given below

represents the variations in earnings in
rupees over a week. Study the graph and
answer questions given below (1 Mark)

Earnings per day

e\
/ \
/ \
\_~

“ 200 = Earnings per day

be e?brb Q?’b 8 3
N < F

The difference
between

in earnings was large

(a)
(b)

Sunday-Monday
Tuesday-Wednesday

(©
(d)

Thursday-Friday
None of these
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94. fQAfaf@a arfasr &1 %:qm’q‘\éE e | 94.  Study the following table carefully and
F AT 355 A BT 70 goit & 3w & answer the questions given below it:
Toys Years Tovs
Years A 5 c D - A B C D E
1982 120011501 78 |90 |65 1982 | 200|150 | 78 |90 |65
1933 | 150 | 180 | 100 | 105 | 70 1983 | 150 | 180 | 100 | 105 | 70
1934 | 18017592 | 1101 85 1984 | 180|175 |92 | 110 | 85
1935 | 195 | 160 | 120 | 125 | 75 1985 | 195|160 | 120 | 125 | 75
1936 1220 | 185 | 130 | 135 | 80 1986 | 220 | 185|130 | 135 | 80
1983 ¥ 1985 @ D s & Rt % T D e of tope
e #  gfawd @EAfaa)  gfe from 1983 to 1985? (1 Mark)
Fa1 A7 (1 37h)
(@) 10 (@) 10
(b) 20 (b) 20
() 19 (¢ 19
d 76 (d 76
95. 620 fAFET IR gt 3d F1 3W™Fga|95. What is the maximum area of the
ST T 27 (@ 37) rectangle with perimeter 620 mm‘?(2 Morke
(a) 24,025 mm? (a) 24,025 mm?
(b) 22,725 mm? (b) 22,725 mm?
(¢) 24,000 mm? (c) 24,000 mm?
(d) 24,075 mm? (d) 24,075 mm?
ICRB-d+faw sifddar wadll, (3aaeiadn-2023 g7
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